[image: image3.png]





RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


Y10S
Yamaha FZS1000 Fazer 2001-2005
	Kit for the left side
	Kit for the right side

	
	
	
	
	
	
	
	
	
	

	ID
	Description
	Cat.no.
	Pcs
	
	ID
	Description
	Cat.no.
	Pcs
	

	1
	Dural. cylinder 45mm
	314
	1
	
	1
	Dural. cylinder 45mm
	314
	1
	

	2
	Bolt M12x30mm
	856
	1
	
	2
	Bolt M12x30mm
	856
	1
	

	3
	Bolt M10x130mm
	883
	1
	
	3
	Bolt M10x130mm
	883
	1
	

	4
	Bolt M8x130mm
	884
	1
	
	4
	Bolt M8x130mm
	884
	1
	

	5
	Washer M10 (plochá)
	804
	1
	
	5
	Washer M10 (plochá)
	804
	1
	

	6
	Nut M10 (pojistná)
	810
	1
	
	6
	Nut M10 (pojistná)
	810
	1
	

	7
	Washer M8 (plochá)
	802
	1
	
	7
	Washer M8 (plochá)
	802
	1
	

	8
	Nut M8 (pojistná)
	809
	1
	
	8
	Nut M8 (pojistná)
	809
	1
	

	9
	Dural adapter
	586
	1
	
	9
	Dural adapter
	586
	1
	

	10
	Bolt M6x25mm
	877
	3
	
	10
	Bolt M6x25mm
	877
	3
	

	11
	Bolt M4x12mm
	876
	2
	
	11
	Bolt M4x12mm
	876
	2
	


Instructions:
1.) Remove original bolt M10 from the frame before engine of motorcycle.

2.) Insert bolt ID3 with washer ID5 and bolt ID4 with washer ID7 into the adapter ID9.

3.) Mount this kit on the frame and tighten it using nuts ID6 and ID8.

4.) Put dural. cylinder ID1 on the bolt ID2 and mount this on the adapter.

5.) Mount slider on the dural. cylinder using three bolts ID10.

6.) Fit coloured cover using two bolts ID11.
We recommend to use the glue on all threads (medium strong).
[image: image1.png]



[image: image2.png]



1

